16 Physics

S5 i1l
Tost 11
(T]em = eooen micrometer

() 10° (b) 10° (c) 10° (d) 10°

2 If an object moved along the circumference of a circle such that its displacement after
half cycle becomes 2 7t m, then the value of the covered distanceis ............ .

@Jtm @%m @J‘Ezm @2:}1:111
3 IfA=(2+0.01) mand B = (80 + 2) cm, then the value of (A +B) equals ............ :

(2)(802+201)m (b) (82 +2.01) cm
(¢) (2.8 £2.01) cm (d)(2.8+0.03) m

4 The opposite figure represents two vectors X : Y

from the same type, which of the following vectors '
represents the resultant vector C — T Y/

(Where: C =X +Y)?

e S Y

(@) ® © D
5 The most accurate tool for measuring the time taken by an object to fall from the top of
a building is ............ .

®

®

6 If the dimensional formula of the physical quantity (A) is M* LT = and the dimensional

©,

formula of the physical quantity (B) is M* LT, so the dimensional formula of the
quantity (4A-2B)is ............ :

(@)M*L2T* )M 4214
@ M*LT™ @ has no physical meaning
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7 Two vectors A and B of the same type are equal in magnitude and perpendicular on each
other, then the operation that makes their product ............ .

Maximum Zero
@| A.B A-B
®| A.B ArB
©| AB A-B
@| AuB A.B

'8 A group of students measured the density of a liquid several times, then they calculate the
average of their readings. Explain why the students calculate the average of their readings.

9 The opposite figure illustrates a vernier caliper used to ),\ 4
|

measure the radius of a metallic cylinder. TG s

ol oo

8 9 10
1kl‘qllh|nin|r1|m|n|||ru|||

From the figure find the measured value for the thickness |
of the cylinder. 1 }

10 When the density of a cube was calculated, the percentage of error in measuring
1ts mass was 2 % and the percentage of error in measuring its side length was 0.5 %,
so find the percentage of error in calculating the density of the cube material.

(Knowing that: Density = SENE )
Volume
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Physics

__ Test |2

"1 When the density of a liquid is measured by a hydrometer, it is found to be (10° + 1) kg/m’.

SO\ R .
The type of The percentage of error in |
measurement measurement
@ direct 0.1 %
@ direct 1 %
© indirect 0.1 %
@ indirect 1 %

2 The opposite figure illustrates three vectors f L and ﬁ,

which of the following equations is incorrect?

'3 The scalar product of two vectors and the magnitude of their vector product equalize when

the angle between the two vectorsis ............ .
(a)75° (b) 60° (c)45° (d)30°
4 If x =250 ms, y = 1500 s, then the value of (x + y) equals ............ .

(2)0.2515 s (b)4s (€)250.15 s (d)1750 s

5 If the height of a student is (1.8 = 0.05) m and the height of another student is

(1.95 = 0.05) m, so the second student is taller than the first student by ... ,

(2) (3.75 £0.05) m (b)(3.75+0.1) m

(¢)(0.15+0.1) m (d) (0.15 +0.05) m
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7 A group of students measure the velocity of a moving body, which of these measurements

IS more accurate?

(2) (350 + 20) m/s (b) (340 = 15) m/s

(¢) (335 + 10) m/s (d) (320 + 10) m/s
'8 A metallic ball of radius r 1s dropped into a tank of water, if its velocity in water was v and it

is affected by a resistance force given by the relation F = Krv where K is constant, so find the

measuring unit of constant K. (Knowing that: [F] = MLT )

9 The opposite figure represents the path of a moving q -
tart o

body, calculate the value of the total displacement
covered by the body. » End

3m
2m

2m

10 The radius of a circle is measured and it was found to be (10.5 + 0.2) m, then calculate

the area of the circle. (Knowing that: The area of the circle = m,z)
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1 3 Answers of Physics

S5 i1l

Answers of Test n

1/ 10* 2/’ m 3/(@)(28+0.03)m 2@
51(©) 6/(OM LT 7/@AAB,A.B
'8 To reduce the error of measurement.

9 * Reading of the fixed scale : X =29 mm =29 cm

* Reading of the sliding scale : x =6 x0.1 =0.6 mm =0.06 cm
* Diameter of the cylinder : d=X+x=29+0.06=2.96 cm

=

10 The relative error in measuring volume : 1y, =31, =3 x05=15%

The relative error in measuring density :r=ry+r =15+2=35%

Answers of lTest B

1)) direct, 0.1 % 2]/(©OK=N 3)(0)45° 4](2)0.2515 s
5 (¢)(0.15+0.1) m 6/(d)63.43° 7 (c)(335+10) m/s
[Fl _MLT? W T—
8] - F=Krv & (K] s =ML 'T
2 B = = o

~. The measuring unit of constant K is ke.m 's '

9] +2+1=4m -

d, =1

d_ :Jd,% +d2
= @7+ (1)? 3
af

:ﬁm

_dm

2m

2m

10A, =R} = = x (10.5)° = 346.5 m’

02 _ 4

T 22T, =2 =T
AT RT“*705 105

v _ 4 < 2
AA—I'A AD T x 3465=13.2m

A=(A ,+AA)=(3465+132)m"
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[Anlwars of Tesi 1 | onthe 1“'H;nth 1

ﬂ@mlmunt of substance and time.
Bﬁ

123« 10'g

O ©F,

£ @2am

O ®004m .
£ © 10 m in direction AH

£} ** The measuring unit of acceleration is m.s™.
- Tts dimensional formula is L T™.
SLUT =LT?
L=l , y==2

g.a;:-‘fafh\: =Y (37 +(4) = § units

_ 4 - u
mnﬂﬁ-:,_ .1‘53"3

B =qJH: <4 B: =¥(6)* +(8) = 10 units

¥
6
o ﬂh=ﬂu

. The two vectors A and B are in the same
direction.

HC=A+B=5+10=15units

Another Solution:

C,=A,+B =3+6=9units

mnf,= =% . 0,=5113°

C=A +B =44+8=12units
y y y

C ={cf+ C? =Y(9F +(12) = 15 units

{1 To reduce the measuring error,

CamScanner = Ligs d>guwaall


https://v3.camscanner.com/user/download

[Answers of Test 2 ] on .the 1;‘ Month |

{5 © Measuring the area of a room using meter tape.
& @ML” T, impossible
£ ®56.3°
£ @24m
£ @2 N in the direction of F,
O®3 V2 units
0 (b) Pressure is a derived quantity. while electric
current intensity ix a fundamental quantity,
v A =Acos0
S5 =Acos (90 - 30)

. S A =10 units

£} Because there might be numerical values in any
of the sides of the equation, where numbers have
no dimensions.

Ad . At 0.1 0.1
'II".=r.,+f,= 5 + —= o+ =0.03
d o (&)
"=—:-=—'59=2m/s

Av = v, = 003 x2=0.06 m/s
v=(v *Av)=(2+0.06) m/s

CamScanner = Ligd d>guuadll


https://v3.camscanner.com/user/download































	1
	2
	3
	4
	5
	6



